Introducing Sociology

Worksheet 1: Obesity

Read the material below and from ‘Sociological Perspectives on page 10 to
‘Structuralism’ on p. 12, ‘Social action or interpretivist theories’ on pp. 16-17, and
pp- 21-22 of the textbook, then answer the questions that follow.

Obesity is set to become the number one cause of death in the UK, according to current
trends, and some believe that we are in the grip of an obesity epidemic. The social and
economic consequences of obesity for society and individuals in the UK, and the public health
threat posed, were described by the Secretary of State for Health in 2007 as a ‘potential crisis
on the scale of climate change’. Adult obesity rates have almost quadrupled in the last 25 years
and the Health Survey for England in 2001 found that around 24 million adults in England are
overweight. 22% of Britons are obese and three-quarters are overweight. Over 30,000 deaths a
year are caused by obesity in England alone. The number of obese children has tripled in 20
years. It was estimated in 2007 that the level of childhood obesity was such that it could lead to
the first cut in life expectancy for 200 years, with children likely to die at an earlier age than
their parents.

Obesity can lead to health problems, including arthritis, heart disease, stroke and diabetes, and
also increases the likelihood of developing cancer.

A study by the National Audit Office in 2002 estimated obesity costs the NHS £500 million a
year and a government-commissioned report by Foresight in 2007 suggested that if current
trends continued half the population could be obese by 2050. The overall cost to the country
was estimated at up to £7.4 billion a year, rising to an estimated £45 billion a year, in terms of
health care treatment, welfare benefits, lost work hours, lost earnings and reduced production
at work.

Some people focus on changing the attitudes of individuals in order to tackle obesity, by
persuading them to take responsibility for their own health and to change their lifestyles. Such
methods include, for example, encouraging individuals to recognize the dangers of obesity and
persuading them to eat more healthily and take more exercise, with schools teaching children
good eating habits to protect their health later in life.

Others point to the need to look at wider social forces, such as the pursuit of profits over
health by the food industry, the growth of mass marketing and standardization of cheap,
unhealthy foodstuffs by supermarkets, and the use of excessive additives, salt, sugar and
unhealthy trans-fats in fast foods, which have all been linked to health problems. They argue
the food industry should provide clearer nutrition labelling, with tougher advertising
restrictions placed on junk food. Other social factors affecting health include labour-saving
devices, motorized transport, town planning that reduces opportunities for physical activity,
and work and leisure activities that require less physical exertion. Some argue that these social
factors mean it is surprising that anyone is able to remain thin and that the notion of tackling
obesity by encouraging individuals to choose healthier lifestyles and abandon personal over-
indulgence is simply not enough.
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Questions

1. Explain what is meant by a social problem.

2. With reference to the text, and using your own ideas, suggest four reasons why obesity might be

regarded as a social problem.

3. With reference to the text, and using C. Wright Mills’s distinction between ‘the personal troubles of
milieu” and ‘the public issues of social structure’ (see page 21 of textbook), explain why the social problem
of obesity might be regarded as a public issue that cannot be solved purely by looking at the personal

situation and characteristics of individuals.

4. Drawing on the text and your own ideas, suggest three possible explanations for obesity that might be
suggested by those adopting a structuralist approach in sociology (which aims to explain individual

behaviour by looking at the social forces that shape such behaviour).

5. Drawing on the text and your own ideas, suggest three social policies for tackling the problem of

obesity that might flow from the structural explanations you identified in the question above.

6. Drawing on the text and your own ideas, suggest three possible explanations for obesity that might be
suggested by those adopting a social action or interpretivist approach in sociology (which aims to explain

individual behaviour by examining the way individuals see and experience the world).

7. Drawing on the text and your own ideas, suggest three social policies for tackling the problem of
obesity that might flow from the social action or interpretivist explanations you identified in the question

above.




